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YE P RAS EE R
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&5 AE
28 HERRE® S EIE R
(kg/hr) (kg/hr) (kg/hr) (O]
(a) [FFEEH — /NP EHEFRERENRSKER)
fokr @ 2277 0.003 - 0.208 0.010 &
HH 1 1.512 0.000 - 0.641 0.103 =
#F/bE (HCD) 4.545 0.063 - 0.376 0.220 =
Fb= (HF) 0.306 0.008 - 0.137 0.049 =
— &b (SO2) 15.147 0.068 - 8.597 2.563 =
—& kiR (CO) 7.578 0.004 - 0.395 0.087 =
HEEY (NOx)
D% EE (NO2) 30.303 0.807 - 7.149 1.901 s
HE
(b) FFEEH - HISE (HFEHNENAKEE)
fokir @ 0.756 0.006 - 0.017 0.010 &
HH 1R 0.756 0.038 - 0.187 0.103 =
#F/bE (HCD) 0.756 0.152 - 0.282 0.219 =
Fb= (HF) 0.072 0.032 - 0.059 0.049 P
—A/ElT (SO2) 3.789 2.035-2.881 2.562 =
—& kR (CO) 3.789 0.024 - 0.139 0.087 =
FEALY) (NOx)
DL E/EE (NO2) 15.147 1.062 - 2.779 1.904 =
sHE
S8 HERPRE® BLER4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEN (HRFMEEBFTEE)
K 0.003789 <0.0003 s
% S e AR 0.003789 <0.0013 =
BB ED 0.0378 <0.0058 &
TR R e ) 7.575 x 10° <6.3267 x 10710 o
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2022 & 11 B
&5 AF
28 HERRE® S EIE R
(kg/hr) (kg/hr) (kg/hr) (O]
(a) [FFEEH — /NP EHEFRERENRSKER)
fokr @ 2277 0.002 - 0.078 0.005 &
HH 1 1.512 0.000 - 0.841 0.087 =
#F/bE (HCD) 4.545 0.021 - 0.292 0.166 =
Fb= (HF) 0.306 0.000 - 0.080 0.040 =
— &b (SO2) 15.147 0.169 - 5.594 2.405 =
—& kiR (CO) 7.578 0.000 - 7.847* 0.042 =
HEEY (NOx)
D% EE (NO2) 30.303 1.130 - 12.790 2417 s
HE
(b) FFEEH - HISE (HFEHNENAKEE)
fokir @ 0.756 0.003 - 0.014 0.006 &
HH 1R 0.756 0.008 - 0.159 0.087 =
F/bE (HC) 0.756 0.086 - 0.250 0.164 =
Fb= (HF) 0.072 0.014 - 0.053 0.039 P
—A/ElT (SO2) 3.789 2.028 - 2.730 2.400 =
—& kR (CO) 3.789 0.014 - 0.203 0.042 =
FEALY) (NOx)
DL &/EE (NO2) 15.147 1.731 - 3.280 2.438 pss
sHE
S8 HERPRE® BLER4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEN (HRFMEEBFTEE)
K 0.003789 0.0004 s
% S e AR 0.003789 <0.0013 =
BB ED 0.0378 <0.0058 &
TR R e ) 7.575 x 10” <6.499 x 1071 o

® *7.847kg/h ZF/NRPHHE o —(E/NRFEEERGIEHLRPHARIEX -
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Y& % BF
28 HERRE® S EIE R
(kg/hr) (kg/hr) (kg/hr) (O]
(a) [FFEEH — /NP EHEFRERENRSKER)
fokr @ 2.277 0.004 - 0.021 0.008 &
HH 1 1.512 0.000 - 1.074 0.103 =
#F/bE (HCD) 4.545 0.082 - 0.267 0.186 =
Fb= (HF) 0.306 0.017 - 0.106 0.053 =
— &b (SO2) 15.147 0.003 - 6.083 2.578 =
—& kiR (CO) 7.578 0.008 - 0.199 0.104 =
HEEY (NOx)
D% EE (NO2) 30.303 0.952 - 7.698 1.958 s
HE
(b) FFEEH - HISE (HFEHNENAKEE)
fokir @ 0.756 0.006 - 0.010 0.008 &
HH 1R 0.756 0.010-0.210 0.103 =
#F/bE (HCD) 0.756 0.161 - 0.219 0.186 =
Fb= (HF) 0.072 0.042 - 0.059 0.053 P
—SAAEmE (SO2) 3.789 2.181 - 2.885 2.579 =
—& kR (CO) 3.789 0.073 - 0.136 0.104 =
FEALY) (NOx)
DL &/EE (NO2) 15.147 1.415 -2.926 1.963 pss
sHE
S8 HERPRE® BLER4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEN (HRFMEEBFTEE)
K 0.003789 <0.0003 s
% S e AR 0.003789 <0.0012 =
BB ED 0.0378 <0.0054 &
TR R e ) 7.575 x 10” <6.0608 x 10710 o




V5 e BR B RS
BRI RAS RS
2022 £ 11 H

() ERGERELURE RRIEE - By 101.325 kPa » Sg s iRILIEH R - LIRS
A& 11% RSB REEIIE -

(ii) (ORI TR AR T > BIZE SR ALY HAE SR EN ELAE Ry 10pm BRE /) -

(iii) FERJ 30 T St 8 /NRFHUGHAEYFE(E - BAESH ~ B ~ &% ~ 56 - 83~ 87~ &f > IR -

(iv) 1£ 6 = 8 /NRFHUER AN AFE -



